
 Poly Studio X50 Display Mounting Kit
Top of Display
Haut de l'écran
Display, unten
Parte superior de la pantalla
Parte superiore del display
Parte superior da tela
Góra ekranu
Kijelző teteje
Toppen av displayet
ディスプレイの上部
디스플레이 상단

顯示器頂部

2 Horizontal Display Mount Bracket
2342-86308-002

(4) M4 x 8

(6) Tie Wrap 

4mm L-Key Hex
5mm L-Key Hex

(4) M6 x 12
(4) M6 x 25

(4) M6 x 50

(4) M8 x 50
(4) M8 x 25

(4) M8 Lock Washer

(10) M6 Lock Washer
(24) Flat Washer

X2

SETUP SHEET

1

(2) Vertical Display
Mount Bracket
1342-86529-001

(2) Corner Display
Mount Bracket
1342-86036-002

(4) M6 External Tooth
Lock Washer
1602-86044-001

(2) M6 x 12 Screw
1601-68586-002

VESA Mounting Options
(2) M6 External Tooth
Lock Washer
1602-86044-001
(2) M6 x 12 Screw
1601-68586-002

(4) Screws and (4) washers 
appropriate for your display

600mm
500mm

400mm
300mm

200mm

600mm
500mm

400mm
300mm

200mm

1725-86458-003A



2Poly Studio X50 Mounting Kit Setup Sheet

53

10˚(Optional)
(4) M4 x 8 Screw
1601-86307-001

4

User-
Supplied

Display
Wall Mount



3Poly Studio X50 Mounting Kit Setup Sheet

1 (2) Vertical Display
Mount Bracket
1342-86529-001

(2) Corner Display
Mount Bracket
1342-86036-002

(4) M6 External Tooth
Lock Washer
1602-86044-001

(2) M6 x 12 Screw
1601-68586-002

Bottom of Display
Bas de l'écran
Display, oben
Parte inferior de la pantalla

디스플레이 하단

顯示器底部

Parte inferiore del display
Parte inferior da tela
Dół ekranu
Kijelző alja
Bunnen av displayet
ディスプレイの下部

Horizontal Display Mount Bracket
2342-86308-002

(4) Screws and (4) washers 
appropriate for your display

(2) M6 External Tooth
Lock Washer
1602-86044-001
(2) M6 x 12 Screw
1601-68586-002

(4) M4 x 8 Screw
1601-86307-001

Bottom Bracket
2342-86419-001

2

VESA Mounting Options

600mm
500mm

400mm
300mm

200mm

600mm
500mm

400mm
300mm

200mm



4Poly Studio X50 Mounting Kit Setup Sheet

www.polycom.com/support

3

© 2020 Plantronics, Inc. All rights reserved. Poly, the propeller design, and the Poly logo are trademarks of Plantronics, Inc. All other trademarks are the property of their respective owners. 

4

10˚

User-
Supplied
Display
Wall Mount


